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Model Multiple Choice Questions / epgb® DgOsE pE®

(¢))

3)

&)

103. 805 e RO 88ns3 (Python) eI mdm BB and RO168 (syntactically correct) @ ¢?

for m in r:
print(n, 'x', m, '=', n * m)
print()
[r = range(1,13)
for n in r:
# multiplication table of n
print(‘'Multiplication table of ',n)

r = range(1,13)

for n in r:
# multiplication table of n
print('Multiplication table of ,n)

forminrp
print(n, 'x', m, '=', n * m)

@

4)

r = range(1,13)

for n in pr:

# multiplication table of n
print(‘'Multiplication table of ',n)
for m in r:

print(n, 'x', m, '=', n * m)

print()
r = range(1,13)

for n in r
# multiplic

- s

tion table of n

print('Multiplication table of ',n)
for m in r:

(M

&)

)

# multiplication table of n
print('Multiplication table of ',n)
for m in r:

print(n, 'x', m, '=', n *m)
print()

104. 2o» 00 1> vBn27 (Python) nOeEde mdm

print(n, 'x', m,'=", n * m)
print() print()
r = range(1,13)
for n in r:

B amd RO108 (syntactically correct) e §?

number = int(input("Enter a number:") @) number = int(input("Enter a number:"))
if number > 0: if number > 0:
if number % 2 ==0: if number % 2 = 0:
print ("%d is an even number" %number) print ("%4d is an even number" %number)
else: else:
print ("%d is an odd number" %number) print ("%d is an odd number" %number)
else: else:
print ("%d is invalid number" %number) print ("%d is invalid number" %number)
print ("Good Bye!!") print ("Good Bye!!")
Q)

number = int(input("Enter a number:"))
if number > 0:
if number % 2 =0;
print ("% is an even number" %number)
else:

print ("%d is an odd number" %number)
else:
print ("%d is invalid number" %number)
print ("Good Bye!!")

number = int(input("Enter a number:"))
if number > 0:
if number % 2 =0:
print ("%d is an even number" %number)
else:

print ("%d is an odd number" %number)
else:

print ("%d is invalid number" %number) -
print ("Good Bye!!")

number = int(input("Enter a number:"))
if number > 0:

if number % 2 =0:
print ("%4d is an even number", %number)
else:

print ("%d is an odd number", %number)
else:
print ("% is invalid number", %number)
print ("Good Bye!!")




Model Multiple Cholce Questions [ p5be PROom pde

108, som edm sdms poedaeed ocwsIm:
data=[e, -3, 10, -5, 4]
def find(a): -
i, n =1, afe]
while i < len(a):
if (a[i]) > n):
n = a[i]
i=1i+1
return n
print (find(data))

oD HOeFO0w8 BOGE yBeme RO §?

(M

111. com & g s8oz3 (Python) @edde 88x yBemo (output) ez» momed o= ¢?

M -5 2 10 3) o 4) 4 (5) 6
106. swm s8mat (Python) mRedas Hwnom mg 80 croan e dxles, m=3
N 5 Fython) mhed s Gevs) BN 9% def max(n, m):
(1) 4 ‘ if n>m:
@ 35 return n
(3 55 else:
(4 453 return m
(5) 53 print (max(4,5), m)
107. (5 + 10% 5 - 2) wz vBmx! (Python) ymencs qoBeeS yAECce RO ¢7 '
n -2 @ 6 3) 5 4) 5.0 ) 3
108. son 4 Se0n 9O vBns (Python) needdes mon B8 ¢90 A0.68 (syntactically correct) @® &?
) 5) 1.
M. @[ =, ] @[~ G)li-¢
T=0 T=0 T=0 T=0. T=0
while (i <=9) While (i <=9) : while (i <=9): while (i<=9): while (i <=9):
i=i+1 i=i+1 i=i+1 i=i+l i=i+l
T=T+i T=T+i T=T+i T=T+i T=T+i
print(T) print(T) Print(T) print(T) print(T)
109.max(1, -5, @, 3.5, 3) wz s8nsf (Python) gmwens 08088 ghdcs @ ¢?
1 1 2 -5 3) 0 4 5 ) (5) 3.5
110.min(1, -5, @, 3.5, 3) w» uBszy (Python) gmeemw 1083008 yBoce B ¢?
1 @ -5 3 o 4 5 (5) 35

[_Bumber int(input("Enter a number: "))
if number%2==0:
result = 'even’

else:
print ("%d is an odd number® Xnumber)

print ("Good Bye!!™)

print ("%d is an %s number” %(number, result))

Enter a number :0
© is an even number
Good Bye!!

M Enter a number: 44 @ Enter a number: 45 &)
44 is an even number 45 is an odd number
Good Byel!! Good Bye!!
) Enter a‘number: 45.5 ©) Enter a number: -43
45,5 is an odd number -43 is an odd number
Good Bye!! Good Bye!!

2
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Model Multiple Choice Questions / pgb® 28O pE® -

112. 8o B8 Bum cqoon § ;B O onineed yhene Ro Ba v ¢? Begin
1 55 Sum=0
@ 5 Average=0
(3) S5 Forn=110 10
4 50 Sum = Sum + n
(5) 10 NEXT n
Average =Sum/n
PRINT Average
113. 000 & A qudpde 8o (Python) m@edae BCHIID. End.
M oce mnes moy CO® cag Bab "Excellent" owd
"Good" ewd "Weak" ece f¢wme BB wew B od€erd | M = int(input("Enter marks: "))
gtndon ne goed sva Eedm WS 6@y (Python) | if M»=75:
gmuae ¢? print ("Excellent!")
(1) E1if m )= Se ----- IR R
(2) else m >= 50; print ('Good!!")
(3) elif M >= 5@: alsas
(4) else M >= 50: print ('Weak!!!")
(5) Elif M >= 50;

114, 02990 B¢ & &S o8 O 08 vanw On ylemw bsies,

for x in range(1, 2, 3):
n 1 2) 2 3) 3 :

rint (x)-
@ 4 ® 6 E
115. 0200008 sevsd s8nx pPecEded yhomns o RS 8O # find the large value
0]
ki a = int(input("value 'a' is "))
(1) e® 808 awm b goestest Eme aow crod. b = int(input(“value 'b' is "))
(2) =® 80P awm b geusies’ dmme aow 0% G100 if a>b:
(3) = 80® am b gussies’ ik gow G1o8. maxi = a
(4) maximum value is a ece §gew ob. else:
(5) maximum value is b ecw §cesw @O, maxi = b
116. 8o 560> 88 BPeFdews ncnsiv: print(’'maximum value is®, maxi)
Datalist=[52, 9@, 67, 99]
for i in Datalist:
if i< 9e:
print(i)
break
print('end")
un HOeFdond BD6E yBwne 0 ¢7
(1) 52 (2) 52 (3) end (4) 52 (5) 52
end 52 67 67
end end
117. 2000 ¢ & B 68m pedded sewst §ve (function) svs gFedn ocn !
uB8n23 g8S Bansemas (Python interpreter) ne Huodom omed. gex ?.:rg::o(a, s
1t a>b:
»>> largeNo(largeNo(-1, -2), -3) 3 return a
20087 roam yhpmw O ¢7 else:
1 -1 @ =2 @) °3 return b
@) -6 ¢ 3
118.(1 != -1 + 1) @z s8m27 (Python) yeoezmne 5od3e08 yBdcw R 7
(1) e 2) e (3) True. (4) False 5) 2

3




Model Multiple Choice Questions / pgb® m
119. 5o modm mom eBnsy (Python) p@ecaw miom BB qpd HO 68 (syntactically correct) @0 ¢?

D [Rexim range(1,3) @ | for x in range(1,13):
print("\nMultipliation table of %d" %x) print("\nMultipliation table of %d" %x)
print(" ") print(" .
for y in range(1,13): for y in range(1,13)
Print (%d * %d = %4d % (xyacty) | print (%d * %d =%d'% (nyx®y)
3 [forx in range(1,13); B @ [forxin range(1,13):
print("\nMultipliation table of %d", %x) print("\nMultipliation table of %d" %x)
print(" , " print(" b
for y in range(1,13); for y in range(1,13):
print (%d * %6d =%d, % (xyty) | print (% * %d = %d'% (oyx*y)
©) for x in range(1,13): ‘
print("\nMultipliation table of %d" %x)
print(" ")
fory in range(1,13):
- Ln'nt ("%d * %d = %d' % (X,y,x*y))

¢ ouvB gedslext

g8mSwm (graph) x 8ed@roms (coordinate of x) c@» ¢z9 DO, med (function) y &edeoemcs
esd®

B 150 HOFIBRB. & qieedst von yeiz 120 e 121 eseron BT tsvswsm.

120. 505 s o8mss DR ydBOO (save) wbn me B Do ¢ §@b edn evy) 9@w (file name

With extension) wos ¢? (odg ?EBowst 2082 | - 4 42805 § 0d0 POOIBEE emdBn EBD L8 e ob.)
(1) 'y = 2/3x+5.python e B ey

) : 1 # find the coordinate of y in a graph
@) xy. function. pyp 2 x = input('Enter the coordinate of x: ')
() y_and_x.pyc 3 g 2pakK 45

@) y_vs_x.py 4 print("Coordinate of y is %f" *Y)

(5} y_vs_x.pyc

121. 9o» 8 18 m®eFEas ode u8n . godun sBcme =@ "B wew 6o BO68 Bu gfert vun wqust 5®m

SINCWD ¢?
(1) 3edw,y = 2.0 /3.0 * X + 5 ece 0dnd £80.

(2) 1ed€s 9o B30,

(3) 4 e8&s print("Coordinate of y is ", Y)ece cone 880,

(4) 4e8&e print("Coordinate of Y is %.2f" %y) oce oome B3®.

(5) 2ed8ux = float(input('Enter the coordinate of x: ")) ece come £86.

122. o090 ¢ & 818 0802 PP 06t 9800 Ddes? 5® B RWH? [=3

(1) 123 2) @12 i=0

3 210 4 o000 while i< a:

(5) BBOW smmye eEned. print (i, end=('"'))
123. som qdedm 8 06,® YIN® LEHBTH; | o d4=1

A - a, b, c= 10/100, 5/10e, 2/1ee

B - x,y,z= 1e//1ee, 5//100, 2//160

C - pgqgr= 16%100, 5%100, 2%100

OB edn S anedst mdm 8480¢0 anmco (Syntactically) BOGE 08053 ymom Oxtent @50 ¢?

(1) ACeueé. (2) BmmCouoé. 3) AwBueé.

4) Aveé&, (5) A,B=C8adce.

124. 5w (30 18 88wt HReFomed y8emn O ¢?
a=(1, -5, (e, 3.5), ‘world'); len(a)
1M 4 @ s 3 -5 @4 3 (5) 9

4.




Model Multiple Choice Questions / gpeB® 2gOosn pEe

oD, gam» gon 125 8O 127 ¢x50: BEnd saazim.
//,/’1 import math
c def length(a, b):

a
4/’//// r4 c = math.sqrt(a**2 + b**2)
P b return c

length o 1¢0® (call) D& B0 aamodecs! qfedn oxfnw (code) @ Oxtext ¢?

s - F AN — — e £ 2\ —

o @m0 ne & oS v3nx pPelde 885 cuzin® nined PQR sfendd Fendwed PQ=a uv QR=b6 »®
PR EnSeed 80 (0) @=B® ©ew 00m ng §ood (function). @@« p.py ece goAd (save) g8 ¢5mc‘5;m;

125.299 p.py oce gdB oo o837 gfo dmmene €z edlgces ece med (import module) 28 g®-q@

129. son gSebn s8n2 5OeCoe v

# Dsiplay the grades
marks = [56,75.4@]
for m in marks:
while m > 180 or m <O:
print ("Invalid marks (should be in the range (0-100)")
if m»75: print ("Grade A")
elif m »>= 65: print ("Grade B")
elif m »>= 55: print ("Grade C")
elif m »= 45: print ("Grade s")
else: print ("Grade W")
pon nRedded BHE g8 0= ¢?
(1) Grade C (2) Grade W (3) Grade B (4) Grade C (5) Grade C

_ AN (2) (3) {4) (5)
import p import p import p import p import p
x=length(3,4) x=length 3,4 x=p.length(3,4) y=p.length(a,b) print (x)
print (x) print (x) print (x) print (x) x=p.length(3,4)
126. 288 import p B89 g me¢> pyc ey D (file extension) S5 eom veIdy caziesd,
(1) python source file ece . (2) python code file ece . (3) python program file ece «.
(4) python byte code file @ .  (5) python computer file ece o.
127. g5 gEmees RO6E efnews vy C1ed» giene O ¢? .
(1) 25.e ) 5 (3) (a2 + b)¥? (4) 5.0 5 7
128.1ist({ 'subject':'ICT', ‘year':20815}) 8 qow o= ¢’
(1) ['ICT', 2015] (2) [1CT, 2015] (3) ['year', 'subject']
(4) [subject, year] (5) ['sub':'ICT', 'year':2015]

Grade B Grade B Grade A Grade A Grade B
Grade W Grade C Grade W Grade W Grade S
130. 2o gSebn m s8m23 (Python) n®edd s mcm BB qmd B2 (Syntactically correct) @ ¢7
M [total = o @ | total
Efor i in range (1, 10, 2): for i in range ((1, 10, 2)):
Itotal = total + i total = total + i
3 total = © ) total = ©
for i in range (1, 10, 2): for i in range (1, 10, 2)
total = total + i total = total + i
(5) ltotal = @
for i in range (1, 10, 2)
total = total + 1

&




be
| Multiple Choice Questions / S ‘%
__Model MUIBEE ===

gcmﬁf@:
131, s0m ¢fedz e8m2 (Python) »Oecod

f = open("emailadd.txt")

line = f,readline()

i=090
emails = [ ]
while (line != ' '):

"n,n

emails = line.split(";
for email in emails: ‘
print (i+1, emails[i])

i+=1
line = f.readline()
f.close()

"emailadd.txt" empneod sxinsone.son § G5 ’_h___;_o_G
: o4 ahoo.
jkrow@gmail. com;opathal@gmail. com; joe20@y

0 ¢?
0 9RO ;B @
098 DDwOVD FuwOn BB vud wews RO HHEDD C

5 - G) |1 jkrow@gmail. copm
) 1 jkrow@gmail.com @ jkro”@gmailfc com 2 0patha1@gmail.c0m
2 joe2e@yahoo. com opathal@gmail. 3 joe2e@yahoo. cop
3 opathal@gmail.com joe2e@yahoo. com B
@I Jkrow@gmail. com; ©®) jkrow@gmail. com,
2 joe2@@yahoo. com; opathal@gmail.com,
3 opathal@gmail.com; joe26@yahoo. com

132. v e 300986 o8nsf (Python) neoEaes semzim,
f e open("emailadd. txt") #jrow@gmail.com;opata@gmail.com; joe2@yahoo. com
line = f, readline()

i=9
emails = [ ]
while (line I= ' ')

emails = line.split(";")
for email in emails:
print (i+1, emails[i])

line = f.readline()
f.close()

Ch o180 sew o vBns)

D¥edded 8 ouowns goindon me g son e OGS sBmzsy (Python) gzmﬂl(% ; Q0 Qun &

1 jkrow@gmail.com

2 opathal@gmail.com

3 joeze@yahoo.com
M i-=1 (2) 1% 3) i 4o

» @) i4=y @ i/=9 5) 1i=3

- 88! BE®rencs DE empno (file) emRed §ez

=B vBdoext * 'data,txt '’ 285 08st00z

565 agvst mocg 7 00 Bean 8600 1opp, D€ B s8mxt Dortds Dstes
(;) :Pe" = f(:data.txt“, My @ f. .

() £ = open(*data, txtr, wyu @ open PeN("data.txe wpny

() f = open(*data. txt+ "w") OPEN = F("data, tygn "a")




Model Multiple Choice Questions | pebe DmdOw (=1 2)

134, s 800D @z (Python) m@odoa sCHTID.
fl = open(“marks.txt", r')
f2 = open(“result.txt", 'w')
line = fi.readline()

while (1line):
record = (line.strip())_split(u)"

total = float(record[1]) + float(record[2])
£2.write('{@:6s} {1:4d} {2:3d} Total is
{3:7.2f}\n'.format(record[a],int(record[l]),int(record[z]),total))
line = f1.readline()

f1.close()

f2.close()

f = open("result.txt",'r')

info = f.read()

print (info)

f.close()

“marks.txt" ecpedd grndone OB § a1

Ravi, 35,65
Neel, 77,56
Vindya, 100,95

088 DRedLR Bux®n BB vub aBems ("result Axt" emmed8 erinbone B

(1) Ravi 35 65 Totalis 100 (2) Ravi 3565 Total1s 100.00
Neel 77 56 Totalis 133 Neel 77 56 Total is 133.00
Vindya 100 95  Totalis 195 Vindya 100 95 Total is 195.00

(3) Ravi 350 650 Totalis 100.0 (4) Ravi 35 65 Total is 100.00
Neel 77.0 560 Totalis 133.0 Neei 77 56 Totalis 133.00
Vindya 100.0 95.0 Totalis 195.0 Vindya 100 95 Totalis 195.00

(5) Ravi, 35, 65, 100.00, Neel, 77, 56, 133.00, Vindya, 100, 95, 195.00
135. som qufeds vBnsy (Python) BPeloe uemsIm!
f=open('f.txt")
line=f.readline()
tot=0
while line!="":
print (line)
1=line.strip("\n").split(","
tot+=int(1[1])
line=f.readline()
f.close()
print ('Total is ', tot)
“f1xt” eanzyelB esndons emdl BE BES ®O HB.
91060 Huwr®n BB’ vud “fixt” corpneds asinlons RO 00 ¢?

Maths, 75
\ English, 65

Science, 70

(1) Total is 210 (2) Maths, 75 3) 75
Science, 70 English, 65 65
English, 65 Science, 70 70
Maths. 75 Total is 210 Total is 210
4) 75, 65, 70 (5) Maths, 75, English, 65, Science, 70, Total is 218

Total is 210

2) m@=f @B ¢?

<



e |
hoice Questions / et g

Model Multiple 2

‘ ; Joe2@ya
Pedow wcmﬁmil " opata@gmail .com; j 2@)’ hOO, Com
gmall-
") #j row®

136. swo ¢feds vBnsd (.Python) )
f = open("emailadd.txt
line = f.readline()
i=o

emails = [ ]

while (line != ' '): -
emails = line.split("; )

for email in emails: | )

line = f.readline() & amdess? G oRe e,
f.close() L , 08 cfo0z email addl’ebfsg’; caq;,s; (Python) gmoacs ¢?
i gzéémg dif::&:s ::36 golen vom Eied® ®
DPeEded LD g "

Doy Q&hq

1 jkrow@gmail.com

2 opathal@gmail,com

3 joe2e@yahoo. com )
(1) emails[i], i+1 2 i, email’S[ll. 1]
4) i+, emails[i+1] (5) i+1, emails[i-
137. 695 qtods nom v8msy gmone/yme BDog o ¢?
A - a,(b+c) = “Amal", (19 + 20)

(3) 1i+1, emails[i]

B = a, b = ler lal

C - c=2* 130 ¢ power

D - &, b=2%3 3%,

E - a//b=38y/3

(1) Aces. (2) AsvBod&. (3) B,CewDwseé.
4 A CevEwves, (5) B,CewEused.

138. 505 8002 mEm #Bmxt B0edd deted yBume pom ¢?

for i in range(3,0,-1):
print("*" * j)

(1) #wxx (2) wwx (3) *xx (4) *ex» () *
ok *ok ok Yok sk *ok
*x g * ok kK

*

139. s ¢xt0s B O5® 9BI® B ACHYH:

A - a, b="oL AL", 3@
B - a, b= 1
Cc - a, b = b, a =1, 2
D - a=Trye
E - a=none

Odf 880c0 (syntacticaliy) eDDEO B8 Oxtory P
(1) AewC o0&,

D q@uleds mpg o8my (Python) gassmes ¢’

@) BwDeuspg
' 3) A CevDeod.
() C.DwEupg, 3) o»Ds

D 30w O ¢?
(1) 35 @ 2 @A) 25 @ 3 () 175
141.(2+3) %4 /7 2 %% 3 @2 88253 Gmrmeyces Huontom B 80 zeam e O o?
® 29
(1) 35 @ 2 3) 25 @ 3 Q (5) 10000




Model Multiple Choice Questions / epgb® g0 pde
o g 142 ow 143 yd» wew swn 03O 8Ovm (flow chart) 823 0o f18 #1CeEBHOw tgm @b.

142.2 ¢18 5 8® wov» senmm. 080 wdvm 08z Avae emodH m
#CemBnds BEAGD sun (edn HOS ymas wms @b ¢?
(1) gBeme oces “ICT” vz DOm® v D= Hew 8 “Good Bye!” ece

0w foow @d. ‘
(2) @demB8nOxs Repeat-Until sacm Dygoe o@exmf v oA8sT g a>. i

n=0

(3) @Cemdndv BuwdOm Beds vy qbwmed n 8 gow 6 @0. / Print “ICT” /
4) gBeme ece “Good Bye” uaim e fgme eb. ' }
(5) @Cemine o DSOS Buwoxd®wm ezned. A
143. 088 =0ver! ¥i832 HwtC m:frler! vwn x®m olnsl BEeddews
(Python program) ¢?
) [n=o @ [n=o @
while True: while True: No Yes
print("ICT") print("ICT")
n=n+1 n=n+1 [Print“GoodBye!” /
if n == 5: if n ==
continue break
print(“Good Bye!") print("Good Bye!") ,
@) [n=o 4 n=0 (5) n=0 1
while True: while False: while True:
print("ICT") print("ICT") print("ICT")
n=n+1 n=n+1 n=n+1
if n == 5: ff h-== 5; if n = 5:
pass break break
print(“Good Bye!") print("Good Bye!") print("Good Bye!")
144. son ¢ iedm vBmz7 (Python) ¢'n 6850 eemn dcsi.
A - (2.05)
B - [("Sri Lanka", 2014), 2.301, "Winner"]
C - {'info': ["Rank", 2014]}
5 A,B,C ¢ 8590 Python ¢zm g (data types) 8€e0&3
(1) float, list, dictionary (2) list, float, set (3) tuple, list, dictionary
(4) tuple, list, set (5) list, tuple, dictionary

145. e Caund eud sun qEeds Hmn B ACTIH:

A - # This is a comment.

B - // This is a comment. //

C - /* This is a comment*/

D - a=1# This is a comment. B = "Cricket"

E - # Initialize_value of a=1

9D Efeds SO gnedst mim EAOCO ammed (syntactically) 89162 6858 yme Dx¥est e@imts ¢?
(1) AvwD e, 2) CoE seé&m. 3) A, DsnEso&.

4) B,CxDseé&. (5) C,D®Eusoé.

146. con qSedm HOG® Yrna BeHT D

A - a = "''Student's number''’
B - & = 'Student's number’
C - a,b=c¢c, d="AL", 2015
D - a,b,c,d=1, 2, 'AL 2015°
E - a=b=c=d=("1CT", "Technology") '
pun qEedn Eds gnedyl mdm 3800 eymcO (Syntactically) 80108 v8oz3 ymom Dates? 0o ¢?
(1) AvwCooé. (2) BwmDwueé&. (3) A CwEve&.
. (4) B,DwE so&. (5) C,CDwEwse&

g



lv' h t.olls UO Q DO‘)

147. so s8nsy nO®eF@de scmzIm:
marks = [75,32,85,50,38]
def result(m):
a, b =1, m[0]
while a < len(m):
if (m[a] > b):
¢ = m[a]
a=a+1
return c

print (result (marks)) "
BwD HEeOm €0 gpeds GO BOBOVemS yBema (output) ROH ¢ (5) 38
(1 75 (2) se (3) 85 4 32
148. 00 Fed» RO 88wz’ (thhonj BHOeEd deadde 8T
i=1
animals=['Dog', 'Rat', 'Cat’']
animals.sort()
for animal in animals: o
print (i, animal, len(animal), sep='~")
i+=1

2OD qEeds ds areds’ 088 HOedaeuB yBems (output) RO ¢?

(1) 3~Cat 1 . (2) cat 3 (3) 1~Cat~3 @) 1 cat () cat
3~Dog 2 Dog 3 2~Dog~3 2 Dog Dog
3~Rat 3 Rat 3 3~Rat~3 3 Rat Rat

149. 505 (0 B 683 HOeFamed B85 RO ¢?
a = ['Mary', 'had', 'a', 'little’', 'lamb']
for i in range(len(a)):
print(i, a[i])

(1) Mary 2) o a 3 1a
had 1 had 3 had
a 2 lamb : 3 lamb
little 3 Mary 4 Mary
lamb 4 little 6 little

(4) © Mary (5) [Mary, had, a, little, lamb]

1 had
2 a
3 little
4 lamb
150. s0om (00 B 8o HPEFIHL sBpmne O ¢?
word = 'Help' + 'A’
print(word)
1) HelpA :
(1) p (2) AHelp (3) Help A (4) A Help (5) Helpa
151. o2 ¢80 1B Bma? BPeComed yhames po ¢?
word = 'Help'
word = ‘Python' + word
print(word)

(1) Python Help (2) PythonHelp (3) Help Python (4) Pythonhelp

(5) hel
1522 + 2 * 4 / 2 ** 3 s 0@mst RS Huord®m = ) e

1




153. oom (0 S ©Bmay ®%edomed 88pma o:‘“f;" Multiple Choice Questions / peb® Ogook pdo
S

us= "Isury'
V= 'Sothsiripaya'
word = uf:] + v(8:)
print(word)

(1) Isurupaya (2) Isury

154. 000 (0 i 8Bt HOoFamEY gzsms(i)w::yi (4) Sethsiripaya(S) Isurupaya
us= '"Isuru' ¢
vV = 'Sethsiripaya'
word = u[@::2] + v(3:9:2)
print(word)
(1) Iuhiia () Tuuhij () Tuwhita @) Ihida % et

155. oo ¢80 B s8may
¢ dcn . o) .g@oc‘amod 98¢m0 o ¢?
word = 'suru' in "Isurupaya’
print(word) -
(1) False
(2) error (3) True 4) e 01,1
156. som (B0 S 8wy DOeaned yBumae Qo= ¢?
word = 'Paya' not in ‘Isurupaya’
print(word)
(1) False (2) error (3) True 4) e G 1
157,000 ¢0 B u8may HoPedomned doBume o §?
word="Python'
word[:2] + word[2:)
print(word)
(1) PYTHON (2) Python (3) python 4) Python (5) Python

158. owo (0 B 8o HOeFamed yhume RO ¢?

basket = ['orange’, 'pears', 'orange', 'banana']
for f in sorted(set(basket)):

print(f)
(1) banana (2) orange (3) banana
orange banana pears
pears pears orange

(4) © banana (5) [banana, orange, orange, pears, lamb]

1 orange
2 pears
159, 0030 e & i qteOm O emmend yiome 0= ¢?
Begin
total = 0
For prime = 17To 10
lfﬂnuntb;nﬂnq)Tﬁeu
total = total + count
Endlf
Next count
Display total
End
(5) 55
(1) 18 @ 1 3 30 e
= i




estion
choice ?:a nemBDOG B3m 0p,

itiple

Model Mu Bof @0

= (flow chart) ©
0B w0 B8 &

o
g 160 oo 162 gam w0 own o8 :;a,,
160. ;38 sowend »OS MBS s OpPS
C &.
1 DOw (sequence) & '
((2)) ::gaa s @8O (selection) u'@?‘-w&‘
(3) DO w pdndeae (Iteration
o&.
(4) o8 v gimdamw & -
(5) B, euwBs v pMEBIGR 0o& seoco ovm
161. ;30 wowm 98 BHBd HemdnOd ' . 7
Y gt BO gﬁwad F Read an_ integer
0 can L
(1) =88pmw: N 8 g0 ec® .
8o B3¢
) mm N 8 qo0 eoce cad o dm®
qous o yBomen ¢a eoNey. R
() o38cmwn N 8 goo ecw c cq: :
3 2 R3¢ qowss @d.
- K00 N 6 goe oC® 0
@) =0 b gheme cas o s
@200 B2 ® gows 8880 A §u YD ©.
() 08 gRodwess © grdmie nom 8 0.

162.N &cw0 880082t gagom 5, 0, -5 gowsy 90 ca gz 80
Ciodn ylomast gedstent noda ¢? L
Y

(1) Result is 25 (2) Resultis 125 —
Resuit is 0 Result is 0 — count = count + | H—Lan R@

Result is 125 Result is 25
(3) Resultis© (4) Resultis 125

Resuit is 25 Result is 25

Result js 125 Result is 0

(5) own |8 e2ned,
¢ ®163 ov 164 g wew vum ©:8® 0wz (flow chart) 9823 65510: B eFemBSmow B¢ @0,

163. 218® wovens mog o B® o> O3oe/Oy0 wdn mS Sed ¢?

1) expes (sequence) so.&.

2) o0 m ox'de (selection) 89 &. L D O BEGS 9360m0 St /
3) % m sdmSeHs (Iteration) @& l’
4) ox8® 40 ®0Gmn 598, T =

1=1

() Do, 0x8e 1 andndes vo &,

164. 888cmw) o 8 PODE BB 5O, B 0wz 08 B8
¢Cenln® BEae ® uun aSeb» ndg Saw HOGE 08 ¢?
(1) 18 eon 80 womu O 80 s 5088,

) eo yBemaen OC® g0w § feenws a8,

(3) ow s8emen oces G0 6 Qeemes oG,

(4) w180 8 omay 8ae 9600 BAG Yeeses D38,

(5) os1806 ovx Bug A5c s mag,

83;9853. DG Sy
' A CAI 0y { .’“}” admﬁ ReE Oz 538:8 o eEdD

C - st SRoews cudn
¢ ODLD gopx dnctxonary SSwews Dy

s img gqedsf B3 Oxfesst ®OS/ g 80, ¢? T B (mOdlfY) mesmes
[ ) @) Booa @ Ceea, @ Agp




@ e S T v SBoma ,w:: °;’e' Multiple Choice Questions / epet® ©
L= ['OL', 'AL', 2015, 2015] < - ; 5
L[-1]

(1) 2016 @) 2015

() AL 15
w0 B 0Bt mo - % o e T
167.895 § CF'I i @ OdaawLSqua Bode 980 BBOD ewses om wm emme 2O ¢?
1) L[0:3] 2 :
& @) 03] @) L[1:4] (4) L[e:4:2] (5 L[:]
168. 00 ¢8I0 418 08 HOoTaney S noa ¢2 '
L=['oL", 'AL’

L[@:4:2]
(1) ['0L%, 2016] (2) [rapr, 2015] (3)
169. 50D ¢SO §B BBy BOeEaned L 8 LY}

» 'AL", 2015, 2016)
M LT =L 2 de1 L[:]

(o', 2015) (4) [*oL', 'AL'] (5) [2015, 2e16]

Budc 9ot B800 vowxs ewip OB ¥y enne RS §?

() L[:]1 =1L[e] (4) del L (5) . BEma (1) o (2)
D 3O ¢?

b= L0, AL, 2es, geg6)
LE:1+L[-1341)

print(L)

—
]

(M ['oL', ‘AL, 2015, 2016, 2017]
() ['oL, "AL", 2015, 2016, [2017]]
171. 80® (2503 8 Bmay DPeddmed guns nos ¢?

L=['oL’, faLt, 2015, 2016
L[e:2] = []

print(L)
(1) [2e15, 2016] (2 ['oL', *AL")
(4) [2016] ‘ (5) ['OL', 'AL', 2015]
172. s (B0 B s8oxt HRedaned sBme O ¢?

L =['0oL", "AL*, 2015, 2016]

L[-1] = 2017

print(L)
(1) [2017) @ ['oL', 'AL', 2015) 3) [“2017’)
4 ['oL', 'AL’, 2015, 2017] (3 ['oL*, 'AL', 2015, 2016, 2017]
173. 505 ¢80 18 v8o3 POeEaned yhume pos ?

L=['0L", 'AL', 2015, 2016, 2017)]

L.remove(2015)

print(L)
() o', *AL’, 2015, 2017] (2) ['OL', 2015, 2016, 2017) (3) ['OL’, 'AL', 2016, 2017)
@) ['oL’, "AL’, 2e15, 2e16] (5) ['OL', 'AL', 2015, 2016)
174, som ¢80 1S ©Bnz? Podoned ydpnae o= ¢?
L=['0oL", 'AL’, 2015, 2016, 2017]
L[1:1)=["Grade 5"]

(2 ['oL‘, 'AL', 2015]
(4) [2017] (5) [2016]

@G [* ', ', 2015, 2016)

print(L)
() ['0L’, 'Grade 5', 'AL’, 2015, 2016, 2017] (2) ['OL’, 'Grade 5', 2015, 2016, 2017)
() ['Grade 5°, *AL', 2015, 2016, 2017) ‘ (4) ['Grade S', 2015, 2016, 2017]

(5 ['OL', 'Grades', 'AL', 2015, 2016, 2017)

ko
2



e Questions e

Mode! mMultiple choic

o 7
175, som (D 8 080y Boecomad phpme R
L=['OL', 'AL"] -
L[:O]- L ] 'AL. ‘oL', 'AL'
Pf‘!ﬂt(l.) (2 ['OL.D .AL.: 'OL.’ ‘AL ]
) ['OL" 'AL'] AL.] (4) [-OL i
3) ['OL', 'AL‘, ‘OL', '
:5; {-OL" 'AL-: oL', ‘AL'] i @nmaum'weﬁhﬂagaowwn @an ofne o ¢?
t
176. o0 c10> i B OoCOmad L n8sf auf lis
L= ['OL', 'AL', 2015, 2016] a1 e L[0] 8
W) L:] =[] @ deltl:] @ l-[-l
177. com (WO B 08wz yOocomed Qﬂ?w“ nonf ¢
q=[1, 2]
p= ['OL', q, 'AL.] '
print(p) L] @ (oL, [1, 21]
() ['oL’, 1, 2, 'AL'] (3] [[1,.21. f ]
@ ['oL', [1, 2], 'AL'] (5 ['OL', 3, ‘A
178. oom ¢80 B 08023 needdned yhpme RO ¢?
L = [‘Exam’', ('OL', 'AL', 2015), 'Result’]
print(L[1][1]) 3 oL
(1 ‘A’ (2 ‘oL’
“) AL (5) ('oL', 'AL', 2015)
179. 8o ¢80 ;B 88msf HPeCIned yBomw RO ¢?
L= ["Exam’, ['AL', 2015], 'Result']
L{1].append(2016)
print(L)
@ ['Exam’, ['AL’', 2015, 2016], 'Result']

(1) ['Exam', ['AL', 2016], 'Result']
() ['Exam', ['AL", 2015, 2016]] (4) ['Exam', 2016, 'Result']

(5) [['AL', 2015, 2016], 'Result']
180. 81019 (00 318 8o HReEIHeE yBpmw O ¢?
L=['0oL', "AL', 2015, 2016, 2017]
L.index(2015)
M 0 @ 1 3 2 @ 3 5) 4
181. 5o (102 318 880 HOedaned yB8600 RO ¢?
L = [2016, 2015, 2017]
L.reverse()

) delete t (%) el l

print(L)
(1) [2015, 2016, 2017) 2 [20
, 17, 2816

@ 2015, 2017, soun o s » 2015] (3) [2e17, 2015, 2016]
182. som esqwost ¢ anBay OC@ om0z uBmzy ol [SPON (identifier) B2 ¢?

1 3

(4) —eXam2015 ()  Exam2e1s '

(4) 2615-Name () _2015 exam ©) exan_zes

183, oom ¢80 oy 5Bt Deedomed 980500 o $?
L = [2017, 2015, 2016)

L.sort()
print(L) : ;
() [2015, 2016, 2017] '
s 2 2
@) [2015, 2017, 2016] §5§ E;el7’ 2018, 2015 ®) (2017, »
» 2015, 2016]
: e —————

JI+



| Model Multiple Choice Questi b m
184, cwom (s o f 0B8med Bedamed ghme ot ¢? = =

s = set('ooddoowara')

print(s)
M {'w*, 'd*, 'a', ‘p° 'o"} @) ['w', 'd’, 'a’, 'r'

R - b, sae ak a , 'd*, 'a', 'r', ‘o'
() (w', 4 » @, 'r, '0") @ ‘w, ‘a’, ‘a’, 'r",,'o' :

(s) ‘.ol. .on’ .d., 'd', tal‘ 'ol, lwl’ l.l' lrl |°|}
lnmqmqsﬂwgsodw;lﬂqma nOxdf ¢?
data = {('OL': 65, 'AL": 21, 'GIT':305)
print(data['AL'))
lm(l) 308 (2) 65 3 21 4 'AL:21 (5) 2r
SOD D) A v8nxy Deeomed 98eome neon ¢?
data = {'OL': 65, 'AL': 21, 'GIT":305)
out-list(data.keys())

print(out)
(:; [OL*, '6IT", "AL') () 65, 21, 305 (3) ‘oL‘, '6IT', 'AL’
@ oL, erm, aj ®) (oL, errr, ‘AL

187. con ¢ o f 08wy BPedaned yBunas nox ¢?
student = dict(OL=65, AL=21, GIT=3@5)
print(student)

(l) {'0L'= 65, 'GIT'= 365, 'AL'= 21}

@ {65, 3es, 21)

(3 {'oL': 65, 'GIT': 385, "AL': 21}

@ {'oL', 'GIT', ‘'AL": 21}

(3) {oL:65, GIT: 305, AL: 21}

188. o= (S o1f 28ax eIl 38eme 98 ¢?

{ .
| 5= [x**2 for x in range(5)]; print(s)

(1) [e, 1, 4,9, 15, 25] (2) [1, 4, 9, 16] 3) [3; 4,.9;°16; 25]
@ fe, 1, 4, 9, 16] () [e, 1, 2, 3, 4]
189. o> (= @i 0802 nOeFIned gheme O ¢?

y = {x: x**3 for x in (1, 2, 3)}
print(y)

{1, 2, 3} 2 [1:1, 2: 8, 3: 27] 3) {1:1, 2: 4, 3: 9}
5) {1: 1, 2: 8, 3: 27}

ey
4) {1, 8, 27}
190. oo ¢ B £8n3f HVeEIned yBpze BN ¢?
info = {'OL": 65, 'AL': 21, 'GIT':3@5}
for subject, student in info.items():

print('{0:5} ==> {1:5d}'.format(subject, student))

(1) AL == 21 2) AL ==> 21 3) AL == 21
oL ==) 65 oL ==> 65 oL ==> 65
GIT ==> 385 GIT ==> 305 GIT ==> 305
4) AL ==> 21 (5) AL ==> 21, OL ==> 65, GIT ==> 305
oL ==> 65
GIT ==> 305
191. so5 sy D) gneds v8nsf Hledaned mbm O (s yaowe (data type) oxw Oxfors o ¢ 7
(1) bytearay  (2) string (3) bit ) tuple (5) et

i




Mo E ﬁ E

192. oom {0 a u8ns? @@t’damod ey s

for i in reversed(range(1, 10, 2))’
print(i, end = ';") - 9:7;5;3;1 (5) 10;8;6;4;2;
. 33;537595 ’
M 9,7,5,3,1 @ 9%7:5%1 O 1:55 ? ’
193. s ¢ i 8B noedomed gﬁM
for x in range(3, 6): i X, X*X, x*x*x))
print('{0:2d} {1:3d} {2:4d} 'fO;::r:;t(x, x**2, X**3))
# print('{@:2d} {1:3d} {2ﬂ},_.——-—"'—-_—_’;—'3 9 27
- “7 (
@, %2 ® 3 & e gl
4 16 64 4 16 5 25 125
5 25 125 s 25 125 :
25, 125
(4) 3 9 27 (5) 3, 9, 27, 4, 16, 5, )
4 16 64
5 257125
D ¢?
194, 805 (00 B 880 exfne HedOn ng 5O 103D gheme R *0 ¢
X = -1
while x <= @:
X=Xx+1
print (x, end = ' ')
print(x)
M -1e1 @ o1 @ 2180 4 e11 (5 -1e11
195. 20m ¢80 1B 88057 exdne He®n ne 8O Cr1ed» HBEHD 2O @0 ¢?
X=y-= -1
while x <= y:
X=x+1
y=y =41
print (x, end = ' ')
print(x)
1 -10 @ o1 3 110 4 oe 5) 011
196. s 0 18 88ox) edne HwdOn me 8O cream 830 O ©b ¢?
X=ys= -1
while x <= y:
X=x4+1
y=y-1
print (x, end = ' ')
print(x, y)
. M :: e @ o -2 G) -10-2 4 oo (5) 0@ -1
- BUD (WO B BT o
while x <= y:
X=x4+1
y=x-y
print (x, end = ' ")
print(x) '
(1 e11
: A : ’(2) 01 B) 1160 @ 84 ‘
- 1 %) 101

;

(o)



e 90 8 o smms BT S Model Multiple Choice Questions / qpee @goss0 g8

Gy ® =3 C10a 8o o ob 7
while x <= y:
X=X+1
y=x-y
print(x)
B 81 @ 1 () o @ 10 G) -1
199. s> eeosl 883 yPeane BCDITH:
a =i, zj
b = [3, 4)
¢ = [a] + [b]
print(c)
o®8 ylema O ¢?
(1) [4, 6] (2 1o 3 [, 2, 3, 4]
@ [[1, 2], [3, 4]] () [1, 2] + [3, 4]
200. o0 wqws’ 880 HPeFImw OCHID:
a=[1, 2]
b = [3, 4]
c=(a, b)
print(c)
028 ghRms RO ¢?
(1) (4, 6) @) ([1, 2], [3, 4)) (3) (1, 2, 3, 4)
@ [[1, 2], [3, 4]} () (1, 2) + (3, 4)
201. voom ey 88n HOeFIM® sEmsim:
a=[1, 2]
b =[3, 4]
¢ = {a+b)
print(c)
@8 yhoms nd ¢?
M (4, &) @ ([1, 21, [3, 4D ¢ (1, 2, 3, 4]
@ [[1, 21, [3, 4]] ) (1, 2) + (3, 4
202. sun eusy 88n57 HREEIBE BEHBTD:
a=['x, 'y']
b ={3, 4}
¢ =(a, b)
print(c) .
oo s8ns HPeddns yhpme B ¢?
(1) ('x'+3, 'y'+4) @ ['x', 'y, [3, 4] @) §'x, iyt 3, %)
@ [['x'5 'y'], {3, 4}] ) (['x', 'y'], {3, 4})
- |203. 6857 1ow00D mcm B8 etd @AES ele end BdATDews! BB Bewst DOFS sem AT
A - mom BB ocle u8n mPedden 08 abmma ¢t DD ez0ed.
B - 28¢80 oide 00mn 18 nleCaus &8 gbemae ¢80 D@ 03w B mA .
C - «® 80 ® 2m® BPeEd wwdAx mom 58 wiewd adpsd odedEs omd § s.Bbe
BHPeddex udmine me v .
D - @3¢d oile u8n pPerd s®63 gipm sewm B068 yBem cas omn o oS «.
oD sqws! RO Dot gums Dxjes ¢?
(1) AwBueé. (2) AmCod&. (3). Cod&. 4 BwCod& (5) BwmDoo&k.

ﬁ‘.g,,




stions / PSOS Db gso
itiple Choice Que: .
MOdel Mu o Béi&"l “awm-

o oon vews 88nr PReddIme Bemd HED ¢ 204 w0 205 8
a=1[1, 2]
b = {3, 4}
c = (a[@]+b[e],a[1]+b[1])
print(c)
204. o2 08037 pPeans yhpme RO §7 3 [4, 6]
(1) (8, 6) @ ([4];)[62; "
4 [[a], [6]] ® (1, 3), (& 5 ¢?
208. 9o 08t mOoFed BEOES a, b w ¢ HOCH HOGEST (data typcs; "9"1:; S:t’ e
(1) tuple, set, list (2) tuple, dictionary, list (&)
(4) list, dictionary, tuple (5) list, set, list

‘ prstes? o ¢?
206. 50 wewst ¢ gedst mon Blwnmne © BOGE 8o noocamnes

. - 3) fun mini(a, b = 109)
(1) def mini(a, b = 1e0) (2) Def mini(a, b = 108) & if (a<b) then returq 5

if (a < b) if (a < b): else return b
return a return a
else else:
return b return b
(4) def mini(a, b = 100): (5) function mini(a, b = 100):
if (a < b): if (a < b):
return a return a
else: else:
return b return b
207.28 - 3 ** 2 + 2.0 um sBod yEane Huson ne 8O C10dD g0 =@a ¢?
1) 13.0 @ 160 @) 310 @ 13 ® 31

* g 208 v 209 yudm g som 03O wdwz (flow chart)
082 eoxiDs il qemBndw tugm ©b.

208.080 ®B® wowxm 85 Roveme bm gIomBnOod
s8ome o ¢?

(1) e.e

2) 0.1

3 e

4 1/1e

6 1.1

209. 000 wqwsl D3 000 138 wovm DG Aoums
0P CAM 8807 PPeddnw O ¢?

(1) n=o0.0 2 n=o0.0
while n != 0.1: while n < 0.1:
print(n) . print(n = n + 1/10)
n=n+1/10
3 n=20.0 . 4 n=0.0 3 n=0
while n = 0.1: while n I= 9.1; - while n I= 0.1:
~ print(n) print(n) n=n+1/10
-n=n+1/10 n=n+1/10 print(n)
210. 522 Can wudsled BOd e (comments) s®axtdewst sen sewst R Dozide wos 0b ¢?

(1)  Bodes =® 80 @ o odB8umd uowx 89, DE @ @,
(2) Python g@ocf&:p wwed 2 @ s-onfne 88sf Bode 0OY me B w.
(3) g0t 861005 vi6 cOBE mmB PO PO8W ™ ezw i w,

(4) Bodem ne =@ B8O © omnbEs omis Sdndent gxinson DE ¥Y @.

(5) g m@m 0 ontm emdes B1d 8 880 sews H06 20 OB PO Foam wedmdmad 2 gowtdndd o
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